Step Five:   1 point per box—21 points total
	
	Give instructions on what to do if you are using the vector…

	If you want to…
	Position
	Velocity
	Acceleration

	Get Mr. Red moving to the left starting from rest.
	Move the position vector to the left.
	Move the velocity vector from the dot (0) to the left.
	Move the acceleration vector from the dot (0) to the left.

	Get Mr. Red to a constant velocity starting from rest.
	Move the position vector at a steady rate.
	Move the velocity vector from the dot (0) to some length and leave it there.
	Move the acceleration vector from the dot (0) in some direction.  Then, move it back to the dot (0).

	Bring Mr. Red to a stop if it is currently moving at a constant velocity to the left.
	Stop moving the position vector.
	Move the velocity vector back to the dot (0).
	Move the acceleration vector to the right to slow down Mr. Red.  Once Mr. Red has stopped, quickly move the acceleration vector back to the dot (0).

	Continue moving Mr. Red at a constant velocity if he is already moving at that velocity.
	Continue moving the position vector at a constant rate.
	Leave the velocity vector as is.
	Leave (put) the acceleration vector on the dot (0). 

	Change directions of Mr. Red, from a constant velocity to the left to a constant velocity to the right.
	Move the position vector to the right at a constant rate.
	Move the velocity vector from the left to the right and leave it pointing to the right.
	Move the acceleration vector to the right until Mr. Red starts moving to the right, then put the acceleration vector on the dot (0).

	Change directions of Mr. Red, from a constant velocity to the left to a constant velocity down.
	Move the vector straight down at a constant rate.
	Move the velocity vector so that it points straight down and leave it there.
	Move the acceleration vector down and to the right until Mr. Red is moving straight down.  Then move the acceleration vector to the dot (0).

	Make up your own:
	
	
	


